P
o
e
)

<2
(9]

=
S
o
)
2

‘ Y-RE #smmmrsmess (150mm-250mm)

= ER g

PR

FPRERL (L S/ W)

FERA

M E Lock Valve, Relief Valve, Brid[E, 5 & EFLS4R,
(ZERTE 2 ERIFHE ]

EE(TIE [mm]

SEZEA (Push) [em?]

SEZER (Pull) [cm?]

SEZEHES Push [kN(kgf)]

sEEIEH Pull [kN(kgf)]

BRATI{EES [MPa(kgf/cm?)]

RIFHIRABATEE [min™']

BMEAE N - mikg - m)]

2 Leak 2 [£/min]

KITAGAWA® Model

Y-1530RE Y-1550RE Y-2035RE Y-2050RE Y-2560RE
30 50 35 50 60
174 174 312 312 515
160 160 290 290 482
66.0(6732) 66.0(6732) 117.0(11934) 117.0(11934) 193(19541)
60(6118) 60(6118) 108(11013) 108(11013) 180(18289)
4.0(40.8) 4.0(40.8) 4.0(40.8) 4.0(40.8) 4.0(40.8)
5500 5500 5500 5500 2000
1.86(0.19) 1.96(0.20) 3.82(0.39) 4.12(0.42) 9.0(0.92)
14 14.8 225 235 85
0.8 0.8 0.8 0.8 0.8
Y-1530RE Y-1550RE Y-2035RE Y-2050RE -

¥ BHESHHLMER,

¥ EIRFIEG L T AR AR, RS AR,
¥ 2 Leak BRRES] 3.0MPa, ;i 50° BV E,
% =T EHRIITETRA Kitakawa ##4T OEM 477,



L M 5!
/1 MIN.15 BRI N
il - = zpmsc | | pignpEnon
= I - — F o
L 1 g
: ]
40 = 40 - é%f
G A
PTY
R
FaRT
Y-1530RE Y-1550RE Y-2035RE Y-2050RE Y-2560RE
150 150 200 200 250
n 30 50 35 50 60
190 190 245 245 305
“ 130 130 145 145 220
110 110 120 120 160
45 45 55 55 65
_ M30x3.5 M30x3.5 M36x4.0 M36x4.0 M42x3.0
_ 45 55 60 60 65
_ 269 320 288 333 379
_ 163 194 166 192 207
106 126 122 141 172
“ 169 189 183 202 227
_ 56 80 69 80 85
_ 26 30 34 30 25
n 6-M12x24 6-M12x24 12-M16x30 12-M16x30 12-M20x35
“ 175 195 189 208 233

Rotary Cylinder



	回转油缸 16
	回转油缸 17

